
TECHNICAL GUIDE
PROTECTION PRODUCTS- PAGE 238

	 Model	 Article	 Size W x H x D	 Colour	 Batteries	 Contains	 Package size and weight	 Pallet size and quantity

	 607	 1902	 12,5 x 25 x 11 cm	 White & black	 8 pcs. of AA (not incl.)	 1000 ml

 1000 ml dispenser with sensor for liquid 
hand sanitiser. Batteries not incl. For indoor use. 
Can be mounted on e.g. the Multi Stand or a wall.

 1000 ml Spender mit Sensor für Hand Alkohol 
- flüssig. Batterien nicht inkl. Für den Innenbere-
ich. Kann zum Beispiel auf den Multi Stand oder 
ein Wand montiert werden.

 1000 ml Dispenser med sensor til flydende 
håndsprit. Batterier er ikke inkl. Til indendørs 
brug. Kan monteres på f.eks. en Multi Stand eller 
en væg.

He
ig

ht
  2

5 
cm

Width 12,5 cm

Depth 11 cm

Hand Sanitizer Dispenser, 1000 ml� A

Powered by 8 pcs.  
of AA batteries  

(not incl.)
Optional adaptor:

art. 19021

AN
TI

 VIRUS PRODU
C

T.
A

VO

ID INFECTIO
N

 .

1000 ml

1000 ml



TECHNICAL GUIDE
PROTECTION PRODUCTS- PAGE 238

Assembly
Montageanleitung
Montagevejledning

 Shows the back of the bracket.
Mount the two square nuts (A & B) in the channel  
on the Multi Stand pole and tighten.

  Zeigt die Rückseite der Halterung.  
Viereckmuttern (A & B) die in den Kanal am Multi Stand 
eingesetzt und festgeschraubt werden.       

  Viser bagsiden af ​​beslaget.  
Skru de to firkantede møtrikker (A & B) fast  
i kanalen på Multi Stand stangen.

  The supplied square nut with screw  (C) 
- must be mounted in the dispenser at the top.

  Die mitgelieferte Viereckmutter samt Schraube (C)  
- muss in den Spender oben montiert werden. 

  Den medfølgende firkantede møtrik med skrue (C)  
- skal monteres i dispenseren øverst.

  Place the dispenser and screw (C) in the pole channel.
The screw (A - photo 1) is the top screw of the bracket.
The lower screw (B - photo 1) is not visible here - but is placed under the dispenser.
Push the dispenser down until the screw (A) is in the hole.
Now tighten the top screw (C).

   Der Spender und die Schraube (C) im Kanal montieren.  
Die Schraube  (A - Foto 1) , ist die obere Schraube der Halterung. 
Die untere Schraube (B - Foto 1) ist nicht sichtbar - befindet sich jedoch  
unter dem Spender. 
Der Spender wird soweit nach unten geschoben bis die Schraube (A) 
im Loch sitzt. Jetzt wird die obere Schraube (C) festgeschraubt.

  Placer dispenser og skrue (C) i kanalen på stangen.
Skruen (A - foto 1) er beslagets øverste skrue. 
Nederste skrue (B - foto 1) er ikke synlig her - men sidder under dispenseren. 
Dispenseren skubbes ned, indtil skruen (A) er i hullet.  
Nu skrues den øverste skrue (C) fast.

Voila !!!

Hand Sanitizer Dispenser, 1000 ml� B







Multi Stand 



A

B

A

B

C

Art. 96101

C



TECHNICAL GUIDE
PROTECTION PRODUCTS- PAGE 238

Installation
Montageanleitung
Montagevejledning

 The top screw must be replaced by an M4 x 12 screw (included).  
The bottom 4 screws must be removed (do not use).

  Die Schraube oben muss durch eine M4 x 12 Schraube ersetzt werden  
(im Lieferumfang enthalten).  
Die unteren 4 Schrauben müssen entfernt werden (werden nicht benötigt).

 Den øverste skrue skal udskiftes med en M4 x 12 skrue (inkl.).  
De nederste 4 skruer skal fjernes (skal ikke bruges).

 M4 x 12 screw that holds the dispenser.  
The dispenser is only mounted on the bracket with 1 screw! 

   M4 x 12 Schraube die den Spender hält.  
Der Spender wird nur mit einer Schraube montiert an der Halterung! 

 M4 x 12 skrue, der holder dispenseren.  
Dispenseren skrues fast på beslaget med denne ene skrue.

  Back of the bracket. Here is the dispenser fixed with the M4x12 screw.
The square nut is inserted, slided down the channel on the Multi Stand Pole  
and fastened.

   Rückseite der Halterung. Hier wird der Spender mit der M4x12 Schraube fixiert.
Vierkant die in den Kanal am Multistand eingesetzt und festgeschraubt wird.

  Bagsiden af beslaget. Her fastgøres dispenseren med M4 x 12 skruen.
Firkantmøtrikken monteres - skydes ned i sporet på Multi Stand Standeren og  
skrues fast.

Hand Sanitizer Dispenser, 1000 ml� C


